Chart parsing example

Consider the simple grammar:
NP = Det N

N > NPP

PP - Prep N

NP

SN

Det Nom

AN

d flight from Indianopolis to Houston on TWA

Need to backtrack because sentence not completely parsed.

//”NAK
a Nom

/\/’\

flight from Indianapolis to Houston on TWA

Again, need to backtrack, sentence not complete.

Det Nom

| A

’ A A
Nom to Houston
A~
flight from Indianapolis on TWA

Still not fully parsed, backtrack again.



a /,Elfi"\\\ PP
Nom PP on TWA
//r\\ //_\
Nom PP to Houston

AN

flight from Indianapolis

Complete parse.



